
Juan realized that his garden is not growing because 

it is on a steep hill. Everytime it rains, the rain washes away 

a lot of the soil and the roots of the plants are uncovered. 

Rate the possible solutions from 1 to 3, 1 being the best solution, 

3 being the worst. Check off the correct boxes.

Comparing Solutions

Comparing Solutions

dig up the plants and plant them 
somewhere else

3

1 2 3

add small stones on top of the soil 
to keep it from washing away

2

1 2 3

add mulch to the garden to keep 
soil from washing away 

1

1 2 3
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